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Note: The triangle ground symbols in the Tx, Rx and channel circuits represent the same
node. This node would typically be the global ground, such as node 0 in IBIS-ISS.




BIRD158 + BIRD189:

BIRD158 BIRD189 BIRD189
TX die interconnect Tx pkg
P1+] P2+ Pi+] P2+ P1+] P2+
P3+ ] ““:. unN P4+ P3+ ] “‘:: unN P4+ P3+ ] “‘:. un N P4+
P1-, P2-, P3-, P4- P1-, P2-, P3-, P4- P1-, P2-, P3-, P4-
(Ref) => node 0 (Ref) => any node? (Ref) => any node?

e.g. PD_ref e.g. Vss pin



BIRD158 + BIRD189 + channel:

BIRD158 BIRD189 BIRD189 BIRD158
TX Tx pkg Rx pkg RXx
Pil+] P2+ Pl+] P2+ Pi+] P2+ Pl+] P2+
““‘ ..... ““‘ ....‘ C h an n e I ““‘ ....‘ ““‘ ....‘
P3+ ] “:. unN P4+ P3+ ] “‘: unN P4+ P3+ ] “:. unN P4+ P3+ ] “‘: un N P4+
P1-, P2-, P3-, P4- P1-, P2-, P3-, P4- P1-, P2-, P3-, P4- P1-, P2-, P3-, P4-

(Ref) =>node 0 (Ref) => any node? (Ref) => any node? (Ref) =>node 0



Recommendation (from Vladimir):

BIRD158 BIRD189 BIRD189 Channel
TX die interconnect Tx pkg
P1+] P2+ P1+] P2+ _Pl+} P2+ P1+] P2+
P3+| P P4+ P3+] : ! | P4+ P3+ ! | P4+ _P3+ i | P4+
K 2 " 2 " 2 " 2’
P1-, P3- P2-, P4- P1-, P3- P2-, P4- P1-, P3- P2-, P4- P1-, P3- P2-, P4-
(Refl) (Ref2) (Refl) (Ref2) (Refl) (Ref2) (Refl) (Ref2)
=>node 0 any node 1 any node 2 any node 3 any node 4



